BOLTLESS ADJUSTABLE BRACE
CONFIGURED FOR LEFT HAND
PANDROL 2056 CLIPS |

1 5/8" HOLE THROUGH DUCTILE
IRON CHAIR AND STEEL PLATE FOR
ANCHOR ASSEMBLY 4 PLACES

1'-2 5/8"

2'-5 3/16"

—’—* I~ GAUGE LINE ¢ TRACK
|
-_l_ r______r__ JI'__lr _______________________________ T____-!_ _____
|
" | | 1 A
4 Lo | ‘!’
| | | |
e P N ol
: N 7
| | T
|
A e — L _I.__I. _______________________________ R _I_ _____ I
’ » 1 ) » »
I } 274 1/4 i 24 1/4 i GAUGE LINE LZ—‘
|
| PLAN I 115 RE RAL SEE DETALL A
SCALE: 1/4"=1" SEE PLATE UNSULATOR DETAIL B
€ TRACK ——
P e
/ ‘
| 1/4" | 1/4 \
/
1 1
1}"_ r_l_I_'u_ ittt N N L _l__rr ______________________ ll—" 1 \
'f_L_'_I_':L ______________________________________________________ J'I"' __________________ :’: ____________ \ r _i__‘l__ A | L
R _ JR,
| ELEVATION | D e BN
T PLATES 15G2 AND 15G3 115 RE RAL ' / |
\
SCALE: 1/4™=1" \ " . /
=~ 2'-4 15/16"
B | L |
| I 1__! /7 \ |1\ N\ B _l__ N 15/8"  23/16
1" [ I—I ______ i I i 1 E——
-f_ L_l__l_:f ____________________________________________________________ 4 E __________________ R N N |
1 1 1
| | - |
7-1/2" 27 !
SfAA—————— ' I C\JATIAN =T —
- y ELEVATION
15/8"| |15/8 P ———
i | PLATES 15G1 AND 15G4
, , SCALE: 1/4"=1" - < 5
1-3/4"_
1 NOTE 1: END PLATE DETAL IS BASED L O T -] —
ON 55E SWITCH MACHINE
OUTLINE OF
ANCHOR BOLT ASSY
8“ 4_1/2' —
3/4” @ TRUSS HEAD HUCK PIN C50LT:
1/8” x 25/32” 1.D. x 2" 0.D. WASHER 3/4” @ HUCK TYPE COMPRESSION FASTENERS
I GAUGE PLATE 1/8" x 25/32" 1.D. x 2" 0.D. WASHER
»__| 1” THICK EPOXY FIBERGLASS
25/8 SPLICE BLOCK
. .781” @ THRU C’BORE NN\ @
3/4” B HUCK TYPE COMPRESSION FASTENERS EPOXY FIBERGLASS INSULATION 2.1250 x 0.25” DEEP f 57
» . » FOR HOLES MARKED "A" 1.5/8" 3
1/8" x 25/32" 1.D. x 2" 0.D. WASHER EPOXY FIBERGLASS SPLICE BLOCK 1/8" x 2" 0.D. WASHER pe 3/4" PLATE
____________ D ETA' L A "PROFESSIONAL CERTIFICATION: | HEREBY CERTIFY THAT THESE
__________________ DOCUMENTS WERE PREPARED OR APPROVED BY ME, AND THAT |
x = CENSED ARCHITEC 50l
SCALE‘ 1 4 _1 égﬁR?g#Yot‘cg[‘U;g&Fi HITECT UNDER THE LAWS OF THE
DETAIL B - PLATE INSULATOR LICENSE o
SCALE: 3/8"=1" EXPIRATION DATE:
- DC REGISTER SECTION 3413
REFERENCE DRAWINGS REVISIONS
M WASHINGTON METROPOLITAN AREA TRANSIT AUTHORITY TRACKWORK STANDARD DRAWING
DESIGNED R.REYES I;UAlgé 0405 | o1 Rov. for DD-DWG Approval, Apr. 2005 Iro NO. 15 TURNOUT, DETAILS
DRAWN  A.DAVIS 06/06 06/06 | 02 [ Minor Revision DEPARTMENT OF TRANSIT INFRASTRUCTURE AND ENGINEERING SERVICES DIRECT FIXATION TRACK
- DATE 01/15 03 Revised Title Block and Changed DD to read ST CENI _ TRACK STRUCTURES & FACILITIES SHEET 1 OF 2
CHECKED RAVIAMIN 0115 REVISION
DATE SUBMITTED APPROVED CONTRACT NO. SCALE DRAWING NO. SHEET NO.
DATE T RO NEER PATE  [Fa- AS SHOWN ST-TW-057 ##hof .




